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1. Choose the correct option/Answer the
following : 1x8=8

(@) The Human Development Index (HDI)
summarizes & great deal of social
perfomance in a single composite index
combining
(i disparity reduction rate, human

development  rate  and " the
composite index
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following :
(A} N GDP as s 3
Lp as indicator of developm

rend v
{ of per capita income j

Solow’s model o
(d) Po
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(5)

overty line and poverty gap?

What are p

Discuss different methods of measuring

relative poverty. 3+8=11

Or

What do you mean by usual status of

unemployment? Enumerate the causes

of unemployment in India. 2+9=11
Adam Smith’s  theory of

Explain
economic growth and e
in developing economy.

Or

xamine the
relevance 11

Discuss Harrod-Domar model  of
economic growth. How far is this model
applicable in developing countries like

India? 8+3=11

What is vicious cycle of poverty? Explain
it after Kuznets as the chief cause of
in developing countries. 4+7=11

Or

theory of development
ly of labour.

poverty

Describe Lewis’
with unlimited supPP

11
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